HURRICANE
FOGGERS

Hurricane Ultra Il



EQUIPMENT REPAIR MANUAL

PARTS FOR HURRICANE ES AND HURRICANE ULTRAII

ITEM | QTY PART NUMBER ITEM DESCRIPTION
1 5 62161 SCREW, 10 X % HIGH-LOW THR.
2 1 62160 SCREW, 10-16 X 1.25 SHWH.
3 1 62124 FILTER, AIR 3.875 DIA.
4 1 95122823 SPACER, PVC, MOTOR
5 1 95122820 MOTOR, BLOWER AY.120V
95122824 MOTOR, BLOWER AY., 240V

6 1 138530 WASHER, LOCK, #8, STAINLESS STEEL
7 1 65228 SCREW,6-32 X 1/2, STAINLESS STEEL
8 1 62189-1 WIRE AY., BLACK
9 1 62366 GASKET, FOAM, DIE CUT (.187 THK.)
10 1 138527 WASHER, LOCK, #6, STAINLESS STEEL
11 1 62187 STANDOFF, POWER SUPPLY, ES
12 1 62189-3 WIRE AY., GREEN
13 4 25166 10-24 NUT, STAINLESS STEEL
14 4 65250 WASHER, LOCK, #10, STAINLESS STEEL
15 1 62148 HOUSING (MACHINED)
17 1 29108157 STRAIN RELIEF (110V)

1 29108157 STRAIN RELIEF (220V)
18 1 62143 GROUND STRIP
19 1 62367 NUT, 3/8 - 16 SQUARE
20 1 62053-1 HAND STOP, SLOTTED
21 1 62162 SCREW 10-12 X 3/4 SHWH
22 1 62186 BUTTON, ELECTRODE SUPPORT
23 1 62441 SCREW, #10-3/4”, BUTTON
24 1 62172 ELECTRODE, 3-PRONG
25 1 62170 RING/STUD AY.
26 3 62171 SPACER, NYLON, .196 ID X .312 OD X .25 LONG
27 1 86819-1 SWITCH, LIT ROCK, 110V

1 86819-2 SWITCH, LIT ROCK, 220V
28 1 62227-3 TUBE, 3/16 ID. X 5/16 OD.
29 1 62045-54-1 NOZZLE AY
30 1 62173-3 POWER SUPPLY, 110V

1 62173-3 POWER SUPPLY, 220V
31 1 9425089 SCREW, #8-32 X 3/8, HEX, SLOTTED

35



EQUIPMENT REPAIR MANUAL

PARTS FOR HURRICANE ES AND HURRICANE ULTRA I

32 1 62189-2 WIRE AY., POWER, WHITE, 110V
1 62189-4 WIRE AY., POWER, WHITE, 220V
33 1 95122822 GASKET, FOAM, DIE CUT (.375 THK.)
34 1 62211 KNOB AY., FORMULATION
35 1 62002-54 HOUSING CLOSURE
36 2 62233 BRACKET, SUPPORT, REAR HOUSING
37 1 62139 WASHER, KNOB
38 1 62195-2 VALVE AY., STAINLESS STEEL
39 1 62197 LABEL, WARNING, ELECTRIC SHOCK
41 1 62010-54 LOCKING HANDLE
42 1 211581 CLAMP, 5/16, PLASTIC
43 1 62128 WASHER, LOCKING HANDLE
47 1 62083 WASHER, FRICTION
51 1 621351 CAP AY., TANK
55 1 62497 WRENCH, ALLEN, 5/64
58 1 95122915 TANK, HURRICANE ES (MACHINED)
59 1 62198 LABEL, FLOW RATE INDICATOR
61 1 62189-3 WIRE AY., GREEN

LINE IN

LIGHTED SWITCH

WHITE 4

-

COLOR CODE FOR 110 VOLT WIRING

1. - BLACK
2. -WHITE
3.- GREEN

COLOR CODE FOR 220 VOLT WIRING

1. -BROWN
2,-WHITE
3. - GREEN/YELLOW

BLACK/WHITE V4
NN

BLACK/WHITE
o —
U <
7
Mo I

o
~

CHARGING RING
(COLLECTOR)

GROUND HANDLE

ELECTRODE
(EMITTER)

36



